
Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



G0615/G0616 Horizontal/Vertical Mill -95-

G0616 Column & Base Parts List
REF PART # DESCRIPTION REF PART # DESCRIPTION
1 P06160001 CAP SCREW M8-1.25 X 140 49 P06160049 SPLINED SHAFT
2 P06160002 REAR ACCESS PANEL 50 PK79M KEY 10 X 8 X 55
3 PVA58 V-BELT A58 4L580 51 PR84M EXT RETAINING RING 34MM
4 PSB160M CAP SCREW M12-1.75 X 65 52 P06160052 GEAR 27/32/22T
5 PLW05M LOCK WASHER 12MM 53 P06160053 O-RING 30 X 2.62
6 PW06M FLAT WASHER 12MM 54 P06160054 O-RING 45 X 3.55
7 P06160007 V-BELT PULLEY 55 P06160055 GASKET
8 PSS06M SET SCREW M8.125 X 16 56 P06160056 FLANGE
9 P06160009 BUSHING 57 PSB14M CAP SCREW M8-1.25 X 20
10 PSB02M CAP SCREW M6-1 X 20 58 P06160058 BALL BEARING 6307
11 P06160011 BRACKET 59 P06160059 BUSHING
12 P06160012 ADJUSTING SCREW 60 P06160060 O-RING
13 PSB01M CAP SCREW M6-1 X 16 61 P06160061 COLLAR
14 P06160014 BRACKET 62 P06160062 V-BELT PULLEY
15 P06160015 CAP 63 PSB31M CAP SCREW M8-1.25 X 25
16 P06160016 TAPER PIN 6 X 35 64 P06160064 END COVER
17 P06160017 MOTOR MOUNTING PLATE 65 P06160065 THRUST BEARING 50 X 90 X 23
18 P06160018 MOTOR 3HP/220V/3-PH 66 P06160066 GEAR 26T
18-1 P06160018-1 MOTOR FAN COVER 67 P06160067 GEAR 57T
18-2 P06160018-2 MOTOR FAN 68 PR56M EXT RETAINING RING 45MM
18-3 P06160018-3 MOTOR JUNCTION BOX 69 P06160069 THRUST BEARING 40 X 90 X 25.25
19 PSB77M CAP SCREW M12-1.175 X 30 70 P06160070 O-RING 35.5 X 2.65
20 P06160020 COVER 71 P06160071 BUSHING
21 PS11M PHLP HD SCR M6-1 X 16 72 P06160072 O-RING 60 X 5.3
22 P06160022 COVER 73 P06160073 END COVER
23 P06160023 LIMIT STOP 74 P06160074 GASKET
24 P06160024 OIL PLUG 75 P06160075 SPANNER NUT
25 P06160025 INFORMATION PLATE 76 P06160076 SQUARE KEY
26 P06160026 RIVET 2.5 X 5 77 P06160077 HORIZONTAL SPINDLE
27 P06160027 GASKET 78 P06160078 KEY 12 X 8 X 45
28 P06160028 COVER 79 P06160079 HORIZONTAL DRAWBAR
29 P06160029 INDICATOR PLATE 80 P06160080 INDICATOR PLATE
30 P06160030 INDICATOR PLATE 81 PSB142M CAP SCREW M10-1.5 X 10
31 P06160031 INDICATOR PLATE 82 P06160082 COMPRESSION SPRING
32 P06160032 TAPER PIN 83 P06160083 STEEL BALL 8MM
33 P06160033 OIL SIGHT GLASS 84 P06160084 HANDLE HUB
34 PSB161M CAP SCREW M20-2.5 X 65 85 P06160085 TAPER PIN 5 X 40
35 PLW07M LOCK WASHER 20MM 86 P06160086 BUSHING
36 P06160036 BASE 87 P06160087 SHAFT
37 P06160037 DOOR PANEL 88 P06160088 SHAFT
38 PSS01M SET SCREW M6-1 X 10 89 P06160089 SHAFT
39 P06160039 PLUG 90 P06160090 ROCKER ARM
40 P6205 BALL BEARING 6205ZZ 91 P06160091 ROCKER ARM
41 PR12M EXT RETAINING RING 35MM 92 PR03M EXT RETAINING RING 12MM
42 P06160042 GEAR 38T 93 P06160093 TAPER PIN 4 X 30
43 P06160043 GEAR 33T 94 P06160094 SHIFTING FORK
44 P06160044 GEAR 26T 95 P06160095 GEAR 48/17T
45 P06160045 GEAR 43T 96 P06160096 GEAR 50/33T
46 P06160046 PLUG 97 P06160097 BUSHING
47 P06160047 SHAFT 98 P06160098 SPLINED SHAFT
48 PK79M KEY 10 X 8 X 55 99 P06160099 COLUMN

Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



G0615/G0616 Horizontal/Vertical Mill -105-

G0616 Ram Parts List
REF PART # DESCRIPTION REF PART # DESCRIPTION
401 PS68M PHLP HD SCR M6-1 X 10 419 P06160419 SHAFT
402 P06160402 COVER 420 PK48M KEY 4 X 4 X 20
403 P06160403 COVER 421 P06160421 WORM GEAR
404 P06160404 RAM 422 P06160422 SPECIAL SCREW
405 P06160405 RAM GIB 423 PSB49M CAP SCREW M6-1 X 60
406 P06160406 GIB ADJUSTING SCREW 424 P06160424 BEVEL GEAR 50T
407 P06160407 LOCK BUSHING 425 P06160425 INDICATOR PLATE
408 P06160408 LOCK HANDLE 426 P06160426 MOUNTING PLATE
409 P06160409 BUSHING 427 PSB49M CAP SCREW M6-1 X 60
410 P06160410 GEAR SHAFT 428 P06160428 T-BOLT
411 P06160411 GRADUATED SCALE 429 P06160429 GRADUATED SCALE
412 P06160412 INDICATOR PLATE 430 P06160430 SPECIAL BOLT
413 P06160413 RIVET 2.5 X 5 431 PW03M FLAT WASHER 6MM
414 P06160414 MOUNTING BASE 432 PN01M HEX NUT M6-1
415 PLW10M LOCK WASHER 16MM 433 PW08M FLAT WASHER 16MM
416 PB133M HEX BOLT M16-2 X 90 434 PN13M HEX NUT M16-2
417 P06160417 RAM WAY 501 P06160501 HEADSTOCK
418 P06160418 BALL OILER

Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



G0615/G0616 Horizontal/Vertical Mill -119-

G0615/G0616 Accessories Parts List
REF PART # DESCRIPTION REF PART # DESCRIPTION
1100 P06151100 CLAMP ROD (G0615) 1126 P06151126 CHUCK KEY
1100 P06161100 CLAMP ROD (G0616) 1127 PAW05M HEX WRENCH 5MM
1101 PW08M FLAT WASHER 16MM 1128 P06151128 DRIFT KEY
1102 PN13M HEX NUT M16-2 1129 P06151129 SQUARE NUT WRENCH 21MM
1103 P06151103 HORIZ ARBOR SUPPORT (G0615) 1130 P06151130 ROTATING VISE
1103 P06161103 HORIZ ARBOR SUPPORT (G0616) 1131 PN09M HEX NUT M12-1.75
1104 P06151104 BALL OILER 6MM 1132 P06151132 T-BOLT M12-1.75 X 50
1105 P06151105 ARBOR NUT 7/8-9 1133 PW06M FLAT WASHER 12MM
1106 PSS06M SET SCREW M8-1.25 X 16 1134 P06151134 T-SLOT KEY
1107 P06151107 SUPPORTING SLEEVE (G0615) 1135 P06151135 ADAPTOR R8-B18
1107 P06161107 SUPPORTING SLEEVE (G0616) 1136 P06151136 ADAPTOR R8-MT2
1109 P06151109 ARBOR BUSHING 1" (G0615) 1137 P06151137 ADAPTOR R8-MT3
1109 P06161109 ARBOR BUSHING 1" (G0616) 1138 P06151138 R8 COLLET 1/8"
1111 P06151111 ARBOR SPACER 1" X 20MM 1139 P06151139 R8 COLLET 3/16"
1112 P06151112 ARBOR SPACER 1" X 30MM 1140 P06151140 R8 COLLET 1/4"
1113 P06151113 ARBOR SPACER 1" X 60MM 1141 P06151141 R8 COLLET 5/16"
1114 P06151114 ARBOR 1" 1142 P06151142 R8 COLLET 3/8"
1115 P06151115 ARBOR 1-1/4" 1143 P06151143 R8 COLLET 7/16"
1116 P06151116 ARBOR SPACER 1-1/4" X 60MM 1144 P06151144 R8 COLLET 1/2"
1117 P06151117 ARBOR SPACER 1-1/4" X 30MM 1145 P06151145 R8 COLLET 9/16"
1118 P06151118 ARBOR SPACER 1-1/4" X 20MM 1146 P06151146 R8 COLLET 5/8"
1119 P06151119 ARBOR SPACER 1-1/4" X 10MM 1147 P06151147 R8 COLLET 11/16"
1120 P06151120 ARBOR BUSHING 1-1/4" (G0615) 1148 P06151148 R8 COLLET 3/4"
1120 P06161120 ARBOR BUSHING 1-1/4" (G0616) 1149 P06151149 R8 COLLET 13/16"
1121 P06151121 ARBOR NUT 1-8 1150 P06151150 R8 COLLET 7/8"
1122 P06151122 TOOL BOX 1151 P06151151 RAM TRAVEL CRANK
1123 P06151123 WAY COVER 1152 P06151152 POWER FEED ASSEMBLY
1124 P06151124 KEYED CHUCK 1-16MM B18 1153 P06151153 BRASS DRIVE GEAR
1125 P06151125 COMBO WRENCH 21/24MM 1154 P06151154 POWER FEED LIMIT SWITCH

Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



G0615/G0616 Horizontal/Vertical Mill -127-

G0615/G0616 Electric Parts List
REF PART # DESCRIPTION REF PART # DESCRIPTION
901 P06150901 RELAY HH63P 930 P06150930 VERT SPINDLE CW BUTTON
902 P06150902 RELAY HH52P 931 P06150931 VERT SPINDLE CW BUTTON
903 P06150902 RELAY HH52P 932 P06150932 VERT SPINDLE CCW BUTTON
904 P06150902 RELAY HH52P 933 P06150933 VERT SPINDLE CCW BUTTON
905 P06150905 CONTACTOR CJX1-12/22 934 P06150934 POWER ON BUTTON/LAMP
906 P06150905 CONTACTOR CJX1-12/22 935 P06150935 HORIZ SPINDLE JOG BUTTON
907 P06150905 CONTACTOR CJX1-12/22 936 P06150936 Z-AXIS UP BUTTON
908 P06150905 CONTACTOR CJX1-12/22 937 P06150937 Z-AXIS DOWN BUTTON
909 P06150905 CONTACTOR CJX1-12/22 938 P06150938 UPPER REVERSE SWITCH
910 P06150905 CONTACTOR CJX1-12/22 939 P06150939 LOWER REVERSE SWITCH
911 P06150905 CONTACTOR CJX1-12/22 940 P06150940 Z-AXIS LOCK SAFETY SWITCH
912 P06150912 VERT MOTOR TERMINAL BLOCK 941 P06150941 Z-AXIS CRANK SAFETY SWITCH
913 P06150913 HORIZ MOTOR TERMINAL BLOCK 942 P06150942 Z-AXIS UPPER LIMIT SWITCH
914 P06150914 COOLANT PUMP TERMINAL BLOCK 943 P06150942 Z-AXIS LOWER LIMIT SWITCH
915 P06150915 Z-AXIS MOTOR TERMINAL BLOCK 944 P06150944 TERMINAL BLOCK 3-P
916 P06150916 CIRCUIT BREAKER 415V 3-P 945 P06150945 TERMINAL BLOCK 11-P (G0615)
917 P06150917 CIRCUIT BREAKER 240/415V 2-P 946 P06150946 TERMINAL BLOCK 12-P (G0615)
918 P06150918 CIRCUIT BREAKER 240/415V 1-P 947 P06150947 TERMINAL BLOCK 20-P (G0615)
919 P06150919 THERMAL OVERLOAD JCM5 3-P 948 P06150948 GROUND BLOCK 1-P
923 P06150923 MAIN POWER SWITCH JCH-13 950 P06160950 TERMINAL BLOCK 4-P (G0616)
924 P06150924 HORIZONTAL SPINDLE SWITCH 951 P06160951 TERMINAL BLOCK 8-P (G0616)
925 P06150925 COOLANT PUMP SWITCH 952 P06160952 TERMINAL BLOCK 10-P (G0616)
926 P06150926 DRILL/TAP SWITCH 953 P06160953 TERMINAL BLOCK 20-P (G0616)
927 P06150927 EMERGENCY STOP BUTTON 954 P06150954 CONTROL SYS TRANSFORMER 24V
928 P06150928 VERT SPINDLE STOP BUTTON 955 P06150955 POWER FEED TRANSFORMER 110V
929 P06150929 VERT SPINDLE STOP BUTTON

Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com

http://usermanuals.us
http://www.somanuals.com

http://www.4manuals.cc
http://www.manual-lib.com
http://www.404manual.com
http://www.luxmanual.com

http://aubethermostatmanual.com
Golf course search by state

http://golfingnear.com
Email search by domain

http://emailbydomain.com
Auto manuals search

http://auto.somanuals.com
TV manuals search

http://tv.somanuals.com

http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/



